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(all the questions are compulsory)

qHE (%)
qeaeTe foF fawer g e | 10 X 1 =10

write the best alternative of the following questions :

1)TAem e qaeH afedl =R FAAT

Which of the following is the first step of survey ? K
a) wmavgs ani(Materials required) b) s@E@@a(observation)
c) s¥vu(Objective) d) fr=¥  (Conclusion)

2) TF AfFIaATaTE S Afadal TTTASHEN] TS FAATS...0een A |
The transferring of information from one person to another is known as..........
u.

a) ¥=r (Communication) b) ==m1(information)

b) F=mmfata(Information technology) d) gfafr (Technology)

3) Sfarfafaaarsfayesresr g |
how many type of bio-diversity are there ? K

a) uF (one) b) == (two)

b) @M (Three) c)=r (four)
4)TTESFITGATATE FITHT AR 2139 Afwg fFAlF................Mitrchondrionis called the
power house of the cell because............. U

a)Fae afed wosRe 19 #ed 8 | (It helps to store energy)

B)zaer @wdw gf=n a=rsy | (it forms the supporting framework)
C)aae TeraerHr wga g |( it helps in intercellular transport)
d)@rtaarsw wga @ 1 (it helps in cell division)

5) BT8T aRueeR G T Afad RS e, w=g | (the physical and biological
world around us is called......... U

a) fawra (developmment ) b) ara@=w (enviroment)

c) wria® dra@ (Natural resource) d) Sfgesfafaaar(Biodiversity)

6) USaT feR ST a1 = ERE FRA 40 a0 ufg R0fHer gfadaued ideas
9 <k FRE gaw Hqerar?( If a car started from a rest gained a velocity of 20m/s
after 10 s then calculate the acceleration of that car.) HA

a) 3m/s2 b) 2m/s2

c)5m/s2 d) 1.5m/s2

7) TAFTHE Ferad TATH! JTATTATRART ?
(which of the following is the utility of convex mirror ? ) A
a) afereproar wradaewr w9AT(As a reflector in a telescope )
b) FFarTar gErT i TAmET(In the mirror that is used for make up )
¢) | =Rt frwrgeem (in the reflector of solar cooker )
d) s |rge & T=n( As a side view mirror of vehicle )

8)CaC 031 amufasw Wk Hfagws (What is the molecular weight ofCaC03?) HA
a) 100 amu b) 90amu
d) 110amu d) 44amu

9)drHvEHHT datagudETaRTEAaTRei fruggs wwraer g | (which of the following
heavenly bodies are included in the solar system ? K

a) ¥ (Sun) b) w=aarr (Comets)

c) wEes (Asteriods) d) =fmr T (All of the above)

10) T@remHer wfatas seare saamTargEer (which of the following is the utility of
aceticacid ) A
a) ¥=r ared(to make pickle) b) afeg qrgsT a9sA(to make baking power)
¢) =nfear w@ET T (to use in a battery) d) PVC ares(To make PVC)

e (@)

qAFIIAETH AT Frel IR ez @ | 8X 1 =8
write very short answer of the following questions :
1) srarea 9= @er 7( what is observation ? ) U
2) FEATIAT AR yfataeTR Tk IHATNTaT seterd | (write any oneapplication of

information communication technology.)A
3) ArEdrifrgara yHEEH wete™ | (write down the major function of
mitochondria.)K
4) TEaTHE R A= & qiveg 2 (what is meant by in-situ conservation ?)U
5) &1 YR aEqamiaTdies 7(what type of object float on water.)A
6) araw=l % & 7(what is heat ? )K
7)FRT 3 ggEAEA R areea |(which acid are found in lemon and milk ?)K
8)SwHI T ekt Tyvg o= Uher w¥# @eferd | (write any one different between
meteor and and meteorite. JHA




IHE (M
TAHTIIEEH Blel IR e | 8 X 2 =16
write short answer of the following questions :

1) fa= JARTTATHT NI Tl ATATSIT e IaTel Atz | (write any
two precautions that should be adopted while doing practical work in
laboratory. ) U

2)ATM % T 79 afa Taed! T3ar wreat aeferd | ( write down the full form of ATM
and also mention any one advantage of it. ) K

3) aeafa 9 T S Fufaw ggurer fear seterd | (write any two differences
between plant cell and animal cell. ) U

4) ERTEF Jod FIAT TR 35 T deerd | (write any two prevention
measures to controlgreen houseeffect . ) HA

5) qui weer ArTgiwaras wer | (Draw a well labelled diagram a complete
flower. ) HA

6) T=er argwaa 10 faeAr 20 km 38 IR e w9 g9 dad dareeeE | (if a
bicycle travels 20km in 10 minutes,calculate it's average velocity.) HA

7)fegudl a1 a ¥ b 7 wA=ifegEiEa a=q &, fFa7In given figure A
and B which one is

P —— <=
magnetic substance , why > coce [g ?
? HA
A B
8) drsfas sTFereRl qilal ITANTATAETRI |
(write two utility of citric acid .) A
TF &)

TARTIIAGEH] AW I e | 4 X 4 =16

write long answer of the following questions :

1) "o fafeamer wrear ¥ awrgare gEEsTed | (prepare a listof advantage and
disadvantage of social media.)U

2)faspre et & Enferit fasras fagres greswdmr avE e | (what is development

?Decribe the principle of sustainable development in brief .)U

3) ATIHISATT FATTAAHT & & T T@IUHT ARTH! HIHATATRIRT AT ATTIATENTS AT
\(what is atmospheric pressure ? find the pressure of water acting at the
bottom of the container in the figure.)ar®r a7 (Density of water=1000kg/
m3,g=9.8m/s%)A

4m

4) Sfezifigs ATHAFIET THEF UF WU TACEUH §, Ih THEH F ¥ [a9dET TElRd |
Part of a group of the periodic table is given below. Write any four
characteristics of this group. HA

Li
Na
K

-Best of luck-
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for: fasr @ wfafer (Science and Technology)
FE: © qHT: R YT
iy %o
Group — A (10x1=10)
T IR IR TG |

1. i5ifr fafargar aeaedr @ 9213 @1 gk
JEHAT el Ul frn? K
Where was the Earth summit of 1992 AD
related to biodiversity held ?

a) 9= (China) b) ATh&T(Africa)
c) aei@(Brazil)  d) S (Japan)
i, TABTHES H &A@l 8= ATSH?In

which animal does external sexual
reproduction happen? K

a) N b) =¥ ¢) FHen  d) 99
iii. =9 T = o wEd g geg ? U
a) AT ® b) STTHHTIC S
b)c) (a) T (b)gd d) %+ df 2

iv. T3 Argwd 20 km/hr 93 T #hi 10 km/hr
gt fremfor Ufeeet saeamn it i wia

Tg? A
a) 2 0)10  ¢)30  d)200
V. SAAHH! BTG qodb Ted F 8l 2HA

= ~ n

g x g g4
d) ¥ AT = H &Ha
Vi, TAHAET FHF Frararad [ aehamgrT
AT Herg | HA
a) TTAT T q@H! FFa1 aqre
b) I FHAHT Feh == AT
c) Rue Iy Wiy TEHT FF=r
d) Tl FATHST ISATe = IHET Tt
RIS
vii. gy wideAr THdE® B & B 2A
a) forerd ware wersy
b) Wiees Fama T
c) farga 3earE g

d) sreatee yare ey




-~

Viii. TeegaIelTs AT TWRTHT BRI H9 2l 2 U
a) T g
b) ST JeHTET TEHATT
C) Wil ANAR  WRERHT T g

d) STUE AUHT

. (@nN N [alaN (@

IX. ~dlecddden] ddlcHe Hlsipl AT
o N (N

SYITLHT[Th {UTeh [ HHP] gﬂegU

a) = DERECHE]

c) AT d)yFEm

X. AT Ferrge (NaCl )&T v 9 Hid
T2 A

a)28 Db)56 ¢)58  d)60

Group - B (8 x1=28)

o

2. Yidaeasl el WU F w2 K

3. HBUEN g WEEEAE & A ? U

4. Yidee f&fg wrEasE gIH T3l BRI TH8Y

| HA

5. e e quwT gEae JUARIAERR | A

6. UlT UICT AlESHAU7.2 km T4 12 e
IR e 99 CIge dted T I SRISTa | A

7. AT TR BEOT <13 UIST AU Bl A

agERl K

8. ¥ T G aAT UH Waar wTwe |
9. Tl Wiell SISHT JUGh AT 9 g5 ? HA

CaCOz+ 2HCI - .......... + CO, + Hy0
Group - C (8 x 2=16)
10. T SARTAAYANTCA® %1 6 AT R
91 HEgHEe dgeg | U
11. Iraxic a1 Mgt 3 aeT fFeaee JTger |
A

NI aY

12. e fgust sareaciahs AEddiA IC A

-

D! AW @8l A

o o

13. FSICIH] TEIAE ATFAT A0 GTH T SHFE (o
o N

glIMPRD grg PN e HA

14. e ffredmer qme wfafEer o gdaa

AIRE® w@erd | U

15. TN T YLORETEEE & X 9al Bl

gEE U
16. fRusT afivEes Icafd WUPT TUHT 9 THRI |
K
a) AT b) ERAT



o

17. T qUrEars Tl folewd YuR [REuawT g 99
WIFTHT qRIUSHT F R aXa 9eTd % ar 9

o

FA0 YART &Y 2 A

Group -D (4 x 4 =16)
18. ATM &I 90 &7 <@l ATM WaRT &1 AYATSTI
qaeT AagTe® e | K

19. foua! WA T T8 o7 AHdH geac

fareTar <rger | A

L
Ll

o O\
20. A) TISs TIgd qET Wg] gad b1 ? U
N fa fa
B) %1 UM a¥qcl [FABA T ATFHT T
N N N i
QIR BT dge| |l U

21. TegusT aifereT deoa" T T weed! 9%

EREEN HA
qeage EISCTlECARERDIE
A 2,8,8,2
B 2,8,2
C 2,8,7
D 2,6

-

a) Tcde® A, BT C &I ¥ T 9hd oi@
b) TcaEECI D HI YA Bid &5 ?

Te |




